
 課題  行列_第 01回 

 

学年[ ２ ]年 学科[ MI・AC・BC ] 番号[   ] 氏名 [           ] 

１ 

3 1

2 3

1 1

A

 
 

= − 
 − 

，

2 1

3 2

1 3

B

 
 

= − 
 
 

 のとき，5 4A B− を求めよ。 

 

 

 

 

２ 次の行列の積を計算せよ。 

(1) 

4 5 4 1

3 2 4 1

1 3 5 1

−  
  

− −  
  −  

 

 

(2) 

4 2
1 3 1

4 5
2 1 1

3 3

− 
−  

−    −  
 

 

 

(3) 
1 1 2 1

4 1 1 3

−  
  

− −  
 

 

(4) 
2 1 1 1

1 3 4 1

−  
  
− −  

 

 

(5) 

1 2 3 3 2 1

2 3 1 2 2 1

3 1 2 1 1 1

− −  
  

− −  
  − −  

 

 

 

 

 

＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝＝ 

１ 

7 1

2 7

1 17

 
 
− − 
 − 

  ２(1) 

5

9

7

− 
 
 
 − 

  (2) 

8 10 6

14 7 9

3 12 0

− 
 
− − 
 − 

 

(3) 
1 2

9 7

 
 

− 
   (4) 

2 3

11 4

− 
 

− 
  (5) 

4 1 0

1 1 4

5 6 2

− − 
 
− − 

 − − 

 


